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अथᭅशाᳫ  (318) 
Economics (318) 

िशᭃक अंᳰकत मू᭨यांकन पᮢ 
Tutor Marked Assignment 

कुल अकं: 20 
                                                            Total 

Marks: 20 

ᳯट᭡पणी :  (i)  सभी ᮧ᳤ᲂ के उᱫर दनेे अिनवायᭅ ह।ᱹ ᮧ᭜येक ᮧ᳤ के  अंक उसके सामने ᳰदय ेगए ह।ᱹ  

Note:   All questions are compulsory. The Marks allotted for each question are given 
beside the questions.  

 (ii) उᱫर पुि᭭तका के ᮧथम पृ᳧  पर ऊपर कᳱ ओर अपना, नामाकंन सं᭎या, अ᭟ययन कᱶ ᮤ का ओर 
िवषय ᭭प᳥ श᭣दᲂ मᱶ िलिखए। 

  Write your name, enrollment numbers, AI name and subject on the first page of 
the answer sheet. 

1. िन᳜िलिखत मᱶ से ᳰकसी एक ᮧ᳤ का उᱫर लगभग 40-60 श᭣दᲂ मᱶ दीिजए। 2 

Answer any one of the following questions in about 40-60 words. 

(a)  जसैा ᳰक आप जानते ह ᱹᳰक भारतीय अथᭅ᳞व᭭था एक िवकासशील अथᭅ᳞व᭭था ह।ै हमारी अथᭅव्  यवस्  था ने 
दिुनया कᳱ िवकिसत अथᭅव्  यवस्  था कᳱ कतार मᱶ लगने के िलए अपना कदम आग े बढ़ाया ह।ै भारतीय 
अथᭅ᳞व᭭था को एक िवकिसत अथᭅ᳞व᭭था बनाने के िलए आप ᭍या मानदडं सुझाएंग?े ᮧस्  तुत कᳱिजए।  
पाठ-1 दखेᱶ) 

As you know the Indian economy is a developing economy. Our economy has 
forwarded its step to be in the queue of the developed economy of the world. What 
criteria will you suggest to make the Indian economy a developed economy?   

  (See Lesson – 1) 

(b)  'भारत ने अपनी िविभ᳖ सामािजक-आᳶथक सम᭭याᲐ के समाधान के िलए पचंवषᱮय योजना ᮧणाली को 
अपनाया। इस कथन के आलोक मᱶ भारत मᱶ पचंवषᱮय योजना के उ᳎े᭫ यᲂ कᳱ ᮧासिंगकता कᳱ ᳞ा᭎या 
कᳱिजए।  (पाठ-2 दखेᱶ) 

‘India adopted a system of five years planning to address its various socioeconomic 
problems. Explain the relevance of the objectives of the Five Year Plan in India in 
the light of the statement’.  

 (See Lesson – 2)                                   

2.  िन᳜िलिखत मᱶ से ᳰकसी एक ᮧ᳤ का उᱫर लगभग 40-60 श᭣दᲂ मᱶ दीिजए।  2 

Answer any one of the following questions in about 40 to 60 words.  

(a) "आᳶथक वृि᳍ कᳱ अवधारणा को ᳰकसी दशे के आᳶथक िवकास कᳱ पवूᭅ शतᭅ माना जाता ह"ै। उपयुᲦ 
उदाहरण के साथ इस कथन कᳱ ᳞ा᭎या कᳱिजए।  (पाठ-3 दखेᱶ) 

“The concept of economic growth is considered as the pre-condition for the 
economic development of a country”. Explain the statement with suitable illustration.  
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  (See Lesson – 3) 

 (b)  21वᱭ सदी कᳱ शᱧुआत मᱶ हमारे दशे से गरीबी और बेरोजगारी कᳱ सीमा को कम करने के िलए सरकार 
᳇ारा शᱨु ᳰकए गए कुछ ᮧभावी कायᭅᮓमᲂ और नीितयᲂ का सिंᭃ᳙ िववरण दीिजए।  (पाठ-4 दखेᱶ) 

Make a brief description of some effective programmers and policies introduced by 
the Government to reduce the extent of poverty and unemployment from our country 
in the beginning of 21st century.  (See Lesson – 4) 

3.  िन᳜िलिखत मᱶ से ᳰकसी एक ᮧ᳤ का उᱫर लगभग 40-60 श᭣दᲂ मᱶ दीिजए।  2  

Answer any one of the following questions in about 40 to 60 words.  

(a) भारत कᳱ ᮕामीण जनसखं्  या गाँवᲂ स ेशहरी ᭃेᮢ ᲂ कᳱ ओर तीᮯ गित स ेपलायन कर रही ह ैिजसके कारण 
बेरोजगार ᮰िमकᲂ कᳱ एक िवशषे समूह तैयार होती ह।ै पलायन के कारणᲂ को पहचानᱶ तथा पलायन कᳱ 
बढ़ती ᮧविृᱫ को िनयंिᮢत करने के िलए कुछ उपयᲦु उपायᲂ का सझुाव भी दीिजए।  
  (पाठ-4 दखेᱶ) 

The rural population of India is migrating at a faster pace from villages to urban 
areas which in turn creates a reserve army of unemployed workers. Identify reasons 
for migration and also suggest some suitable measures to control the increasing trend 
of migration.   (See Lesson – 4)   

(b) कᭃा X के 40 िव᳒ाᳶथयᲂ ᳇ारा अᮕेंजी मᱶ ᮧा᳙ अकं नीच ेᳰदए गए ह-ᱹ 

20, 25, 27, 28, 30, 37, 31, 36, 32, 35, 33, 34, 58, 38, 56, 
39, 55, 40, 41, 54, 53, 42, 43, 50, 44, 51,49, 45, 52, 48, 46, 
47, 35, 38, 40, 40, 58, 42, 42, 32. 

5 (20 -25) के वगᭅ अंतराल के साथ िन᳜िलिखत िविभ᳖ ᮧकार कᳱ सािं᭎यकᳱय बार᭥बारता िवतरण 
तािलकाए बनाए ँ - i. ए᭍स᭍लूिसव सीरीज (िविशष्  ट ᮰खृला) ii. समावेशी ᮰ंृखला, iii. 
ओपन-एंड ᭍लाससे, iv. सचंयी आवृिᱫ।  (पाठ-6 दखेᱶ)  

Marks obtained by 40 students of class x th in English are given below- 

20, 25, 27, 28, 30, 37, 31, 36, 32, 35, 33, 34, 58, 38, 56, 39, 55, 40, 41, 54, 53, 42, 43, 
50, 44, 51,49, 45, 52, 48, 46, 47, 35, 38, 40, 40, 58, 42, 42, 32. 

Construct the following different types of statistical frequency distribution tables 
with the class interval of 5 (20 -25) – i. Exclusive Series ii. Inclusive Series, iii. 
Open-end Classes, iv. Cumulative Frequency. 

4. िन᳜िलिखत मᱶ स े ᳰकसी एक ᮧ᳤ का उᱫर लगभग 100-150 श᭣दᲂ मᱶ दीिजए। स᭎ंया᭜मक ᮧ᳤ᲂ के िलए श᭣द 
सीमा लागू नहᱭ ह।ै  4 

 Answer any one of the following questions in about 100 to 150 words. Word limit is 
not applicable for numerical questions. 4  

(a)  िन᳜ आँकड़ᲂ का आलखे इस ᱨप मᱶ बनाइए; आयत िचᮢ, आविृत बाᱟभजु और सचंयी आवृित वᮓ (स ेकम 
तोरण और स ेअिधक तोरण) -  (पाठ-7 दखेᱶ) 

अंक 0 -10 10 - 20 20 - 30 30 - 40 40 - 50 50 - 60 60 -70 

िव᳒ाथᱮ 5 10 20 30 12 8 5 

 



 
 

3 
Session 2023-24 (Economic 318) 

Draw a graph of the following data in the form of; Histogram, 
Frequency Polygon and cumulative Frequency curve (Less than ogive 
and More than ogive) – (See Lesson -7) 

Marks 0 -10 10 - 20 20 - 30 30 - 40 40 - 50 50 - 60 60 -70 

Students 5 10 20 30 12 8 5 

(b)  सािं᭎यकᳱ के अ᭟ययन का अथᭅ ह ैसािं᭎यकᳱ का िव᭄ान या सािं᭎यकᳱय प᳍ित िजस ेसांि᭎यकᳱय जाचं के 
िविभ᳖ चरणᲂ स ेगजुरना पड़ता ह।ै सािं᭎यकᳱय जाचँ मᱶ ᮧयुᲦ उपकरणᲂ और तकनीकᲂ कᳱ सहायता स ेइन 
चरणᲂ कᳱ ᳞ा᭎या कᳱिजए।  (पाठ-5 दखेᱶ) 

The study of statistics means the science of statistics or statistical method which has 
to pass through various stages of statistical inquiry. Explain these stages with help of 
tools and techniques used in statistical inquiry.  (See Lesson – 5)  

5.  िन᳜िलिखत मᱶ से ᳰकसी एक ᮧ᳤ का उᱫर लगभग 100-150 श᭣दᲂ मᱶ दीिजए। 4 

 Answer any one of the following questions in about 100 to 150 words. 

 (a)  ᮰ी अतुल को सेब और संतरे कᳱ खरीद पर 5 ᱧपय ेखचᭅ करने ह,ᱹ िजनकᳱ कᳱमत 1 ᱧपय ेᮧित सेब और .50 
ᱧपये ᮧित संतरा ह।ै अनिधमान वᮓ िव᳣ेषण के मा᭟यम स ेसंतुलन के ᭭तर को ᮧा᳙ करने के िलए वह ᳰकतने 
सेब और संतरे खरीद पाएगा? उᱫर के िविभ᳖ चरणᲂ कᳱ ᳞ा᭎या करᱶ, िजसमᱶ उदासीनता वᮓ िव᳣ेषण 
कᳱ अवधारणा के िन᳜िलिखत पहल ूशािमल हᲂग-े 

 i) उपभोᲦा के संतुलन का वक्  तव्  य/कथन।  

  ii)  संतुलन कᳱ शतᱸ।  

  iii)  िव᳣ेषण के िलए अनुसूची।  

 iv) उदासीनता वᮓ कᳱ िचᮢमय ᮧ᭭तुित।   

 v)  िचᮢमय ᮧ᭭तुित कᳱ ᳞ा᭎या। (पाठ-14 दखेᱶ) 

Mr. Atul has to spend Rs.5 on the purchase of apples and oranges whose prices are 
Rs 1/apple and .50/orange. How many apples and oranges would he be able to 
purchase to attain the level of equilibrium through indifference curve analysis? 
Explain various stages of the answer which will include the following aspects of the 
indifference curve analysis – 

 i)  statement of Consumer`s Equilibrium 

ii)  Conditions of Equilibrium 

iii)  Schedule for Analysis 

iv)  Graphical Presentation of Indifference Curve 

v)  Explanation Graphical Presentation. –                     
(See Lesson – 14) 

(b)  "यह माना जाता ह ैᳰक दशे के आᳶथक िवकास के िलए आᳶथक नीित तैयार करते समय सकारा᭜मक आᳶथक 
बयान और मानक आᳶथक बयान दोनᲂ अिवभा᭔य ह”ᱹ। उपयुᲦ उदाहरण दकेर इस कथन कᳱ पिु᳥ कᳱिजए। 
  (पाठ-12 दखेᱶ) 
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It is considered that Positive economic statements and normative economic 
statements both are inseparable while formulating economic policy for the economic 
development of a country. Justify the statement with a suitable illustration. 
   (See Lesson -12)           

6.  नीच ेᳰदए गए िवषयᲂ मᱶ स ेᳰकसी एक िवषय पर पᳯरयोजना तयैार कᳱिजए- 6 
Prepare project any one of the topics given below-   

(a)  अपनी एक छोटी उ᭜पादन इकाई का दौरा कᳱिजए, जहा ंउ᭜पादन ᮧᳰᮓया मᱶ 15 स ेकम मजदरू शािमल 
ह।ᱹ इकाई के उ᭜पादन स ेसंबंिधत वतᭅमान ि᭭थित और ᮧदशᭅन स ेसंबंिधत आंकड़ो को दिेखए और एकᮢ 
कᳱिजए। अपने अवलोकन और एकिᮢत आंकड़ᲂ के आधार पर उ᭜पादन फलन कᳱ अवधारणा के िन᳜िलिखत 
पहलुᲐ के अंतᭅगत एक पᳯरयोजना तैयार कᳱिजए – 

 उ᭜पादन ᮧᳰᮓया कᳱ अवधारणा। 

 उ᭜पादन के चार कारकᲂ का सिंᭃ᳙ िववरण। 

 टीपी, एपी, एमपी कᳱ तािलका ब᳍ ᮧ᭭तुित। 

 एपी, और एमपी के बीच संबंधᲂ कᳱ िचᮢमय ᮧ᭭तुित। 

 उ᭜पादन ᮧᳰᮓया  के िविभ᳖ चरण। 

 उ᭜पादन ᮧᳰᮓया के दौरान तकᭅसंगत िनणᭅय का चरण।  (पाठ-17 दखेᱶ)  

Visit to a small production unit, where fewer than 15 laborers are involved in the 
production process. Observe and collect data related to the present status and 
performance related to the production of the unit. Based on your observation and 
collected data prepare a project under the following aspects of the concept of the 
production function –  

 Concept of the production function. 

 Brief description of four factors of production. 

 Tabular presentation of TP, AP, MP. 

 Graphical presentation of the relationship between AP, and  Mp. 

 Stages of the production function. 

 Stage of the rational decision during the production process. (See Lesson –17 ) 

(b)  अपने ᭃेᮢ के दो िव᳒ालयᲂ स ेबोडᭅ परीᭃा मᱶ िव᳒ाᳶथयᲂ के ᮧदशᭅन स ेसंबंिधत आँकड़े एकिᮢत कᳱिजए। 
आपको दो नमूना िव᳒ालयᲂ को लेने का सुझाव ᳰदया जाता ह ै - एक िनजी और एक सरकारी िव᳒ालय। 
बोडᭅ परीᭃा मᱶ वािण᭔य अनुभाग मᱶ छाᮢᲂ के ᮧदशᭅन स ेसंबिंधत आंकड़े एकᮢ करᱶ।    

िन᳜िलिखत शीषᭅक के अंतगᭅत पᳯरयोजना तैयार करᱶ। 

• पᳯरयोजना कायᭅ के उ᳎े᭫ य।  

• आंकड़ो का संᮕह और वगᱮकरण। 

• पाई आरेख और बार आरेख तैयार कᳱिजए। 

• छाᮢᲂ के ᮧदशᭅन कᳱ तुलना कᳱिजए। 



 
 

5 
Session 2023-24 (Economic 318) 

• िन᭬कषᭅ।  (पाठ-7 दखेᱶ)                   

Collect data related to students `performance from two schools of your locality in 
board examination. You are suggested to take two sample schools – a private school 
and a government school. Collect data related to students' performance in the 
commerce section in Board Examination.    

Prepare Project under following heading. 

 Objectives of the project work. 

 Collection and classification of data. 

 Prepare pie diagram and Bar-diagram. 

 Compare performance of students. 

 Conclusion.     (See Lesson – 7) 


